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OR2% EAXA X 6,000,000& 6,000
OSHE NIASAA U3 14,000,000 14,000

AN NISEAHEH SAHEE X2 84,000 84,000 0
= 25,200
= 58,800

307 2iz2to| & 84,000 84,000 0
= 25,200
= 58,800

11T AISIEXAIEEX 84,000 84,000 0
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01 At 22l 2,500 1,800 700
Se0l88 X9Egos 2€ 2,500,000 2,500
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O4z (I &) 400,000& = 298 = 10& 8,000
O4z3 (EXD1&) 350,000& = 3H = 103 10,500
O52 (J1&&) 150,000& = 9¥ = 10& 13,500

_32_




SA: RAEZ D
HM: HYM2HAY| (NS D)
SRl ol 2P| (XX H ) (&2 &)
S E B (3H) - MBAY - BES ﬁlf& HD=2
Os2(BXZII&) 100,000 * 32& 108 32,000
o= (E2XJ|2) 50,000& * 9H 108 4,500
02 =28 x4 1,575,850 1,748,280 N 172,430
oz 500,000 * 1Y 108 5,000
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